CSSE 304                  Removed Problems            Updated for Fall, 2017
Get the graph problems from old A5 or A6

#5 (4 points) Write the procedure (divisible-by-7? num) 

that returns #t if the non-negative integer num is divisible by 7, and #f otherwise.  

divisible-by-7?  :  NonNegativeInteger  Boolean

Examples:

 (divisible-by-7? 12)   =>   #f

 (divisible-by-7? 21)   =>   #t

You may assume that num is a non-negative integer (and your code does not have to test for this).

The Scheme modulo procedure may be helpful here.  
#6 (3 points) Write the procedure (ends-with-7? num) that returns #t if the decimal representation of num ends with 7, and #f otherwise.

Ends-with-7? :  NonNegativeInteger  Boolean

Examples:

  (ends-with-7? 96)   =>   #f

  (ends-with-7? 31489370283367)   =>   #t

You may assume that num is a positive integer (i.e., your code does not have to test for this).  

My intention is that your code will use arithmetic instead of string operations to determine the correct answer.

Removed from A5

#10 (5points) remove-first   Write a recursive Scheme procedure (remove-first element ls) which takes a symbol and a simple list of symbols. It returns a list that contains everything in the list ls except the first occurrence of element.  If element is not in the original list, the new list contains all of the elements of the original list.  The original list is unchanged.
Examples:

   (remove-first 'b '(a b c b d))
 (a c b d)

   (remove-first 'b '(a c d))

 (a c d)

   (remove-first 'b '(a c b d))
 (a c d)
Removed from A7:

#3 (15 points) Write a Scheme predicate (connected? g) that takes an undirected graph (represented in the same way as in previous assignments) and determines whether it is connected. A graph is connected if every vertex can be reached from every other vertex via a sequence of edges. Starting point: the empty graph and the graph with one vertex are connected.  For example:

(connected? '((a (c)) (b (c)) (c (a b)))) 

 #t

(connected? '((a ()) (b (c)) (c (b)))) 

 #f

(connected? '((a (b)) (b (a)) (c (d)) (d (c)))) 
 #f
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